
MS-BT1228-STE-A-H110*DIA60

PIAZZA / QUADRATA BAR TABLE

NO PHOTO QUANTITY

1 Base
1PC

2 Tube  1PC

3 Support top 1PC

4 Top   1PC

5 Spacer M8*16*1.2  2PCS

6 Screw M8*25 2PCS

7 Spanner 5mm 1PC

8 Screw M8*45 2PCS

9 Spanner 6mm 1PC

10 Spanner 4mm 1PC

11 Screw M6*10 4PCS

12 Spacer M6*16*1.2 4PCS


